Instructions to candidates

a) Write your name and index number in the spaces provided above.

b) This paper consists of Two sections: Section I and section II.

¢) Answer ALL the questions in section I and only five questions from section II.
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d) All answers and working must be written on the question paper in the spaces below each

question.

e) Show all the steps in your calculations, giving your answers at each stage in the spaces

below each question.

f) Marks may be given for correct working even if the answer is wrong.

g) Non-programmable silent electronic calculators and KNEC tables may be used.

For examiners use only

Section 1
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Section II
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SECTION A: 50 MARKS %\Q
(od
Q
(2
Attempt all the questions in this sg_cfion.
2
) ) \‘Q}
1. Simplify .
2y? <3xy —2x°
Sy? - (3mks)
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QO‘ 2. Oketch sells his car to Jane and makes a profit of 17%. Jane sells the same car to
Issa at Sh.300, 000, making a loss of 10%. Determine the price at which Oketch
bought the car. (3mks)

: : 1 : . : :
3. Given Sin X =—— and x is an acute angle, find without using tables and calculators.

J5

Cos x + tan (90-x), leaving your answer in the forma + bc . (3mks)
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4. Mr. Owino spends % of his salaé,go'bn school fees. He spends % of the remainder on
)

food and a fifth of what is lgftoon transport. He saves the balance. In a certain month
)

he saved Sh.3400. W§§ﬁ}s his salary? (3mks)

%
5. Arstraight line passes through points A (-2, 6) and B (4, 2).
e? a) M is the midpoint of line AB. Find the co-ordinates of M.

<<&
e
<
\\
&
b) Determine the equation of a straight line passing through point M and is
perpendicular to AB. (3mks)
6. Without using tables or calculator evaluate Iogz(x2 —9): 3log, 2+1 (3mks)
3
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7. In a book store, books packed in c%sr?ons are arranged in rows such that there are 50
cartons in the first row, 48 car%w%s in the next row, 46 in the next and so on.

a) How many cartons WlllQBe there in the 8th row?

\«
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b) If t}%Qr% are 20 rows in total, find total number of cartons in the book store
(
((/Q (4mks)
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8. A rectangle whose area is 96m? is such that its length is 4m longer than its width.
Find

a) Its dimensions

b) Its perimeter (3mks)

~12 +(=3)X4 —(=20)
—6X6+3+(-6)

9. Evaluate

(2mks)
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10.1In triangle ABC below, AC=BC, A§§s parallel to DE, AB=15cm, DE=7.5cm and
(od

BE=6cm. R

@QJ Calculate
§\ a) Length CE

b) Area of quadrilateral ABED. (4mks)

11.A salesman gets a commission of 2.4% on sales up to sh.100, 000.He gets additional
commission of 1.5% on sales above this. Calculate the commission he gets for sales

worth sh.280, 000. (3mks)
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12.A bus and a car leave Nairobi at 7 x.%am and 9.30am respectively. If their speeds are
60km/h and 100km/h respectlge?y, find the time when the car catches up with the

bus. Q}gj‘— (3mks)
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13>ﬁe table below shows the number of children per house in a certain village
e@
<<&
<
J
KN No. of 0 1 2 3 4 5 6 7 8 9
QO* children
No. of 2 3 2 6 4 3 4 3 2 1
Houses
Calculate

(1) The mean number of children per house to the nearest whole number.

(1) The median (4mks)

14.Solve the inequality below and state the integral values of your solution.

2Bx —4)<x +4 <306 +2x) (3mks)
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15. A measuring cylinder of radius 5c‘1;n%onta1ns water whose level reads 6¢cm high. A

spherical object is immersed 1%Qﬁle water and the new level reads 10cm. Calculate

the radius of the sphemcal&jgject (3mks)
S\
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16. Sc%y% the equation
%@ 1
o 87X —=16 +4" (3mks)
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SECTION B: 50 MARKS
Answer any five questions only.

17.John is a sales agent in a company that pays him a basic salary of sh.5000. In
addition he is given a commission of 5% on sales worth sh.200, 000 and 7.5% on any
additional sales above sh. 200,000.
a) In January his total sale was sh. 420,000. How much did he earn in total.

b) In February, his total earnings was sh.28125. Calculate his total sales in
February.
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c¢) The following year the company%xc?langed its policy to a flat rate commission of 9%
on goods sold. In the first mor)%rhQ John sold goods worth sh.450, 000. Find the
percentage change in earn@/ﬁg compared to the old policy. (10mks)

18.The table below shows marks scored by a class in a math test.

Marks 5-9 10-19 20-39 40-49

No. of students | 20 120 50 40

a) Draw a histogram for the distribution above, on a graph paper. (6mks)

b) 1) State the group in which the median lies. (1mk)

11) A vertical line drawn through the median mark divides the total area of the
Histogram into 2 equal parts. Using the information, estimate the median

mark. (3mks)
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19.Karis owns a farm that is tr1angu‘l;a9 in shape as shown below.
C o
Q
2

beQ 320m
a) Calcyg};hte the size of angle BAC.
Q
%
&
e
&°
K

b) Find the area of the farm in hectares.

c¢) Karis wishes to irrigate his farm using a sprinkler machine situated in the farm
such that it is equidistant from points A,B and C.

1) Calculate the distance of the sprinkler from point C.

© KENDJET 2012 121/1



O
o
&
. . . R . .
11) The sprinkler rotates in a c1rculagﬁot10n so that the maximum point reached by
(od
Q
@
the water jets is the Vertic@s%A,B, and C. Calculate the area outside his farm that
2
@
<
will be irrigated. §f‘ (10mks)
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Given that the volume of the solid is 280m3 and its base area 1s 60cm?2 and that

AB:BC=3:5, determine

1) the height of the pyramid. (2mks)

11) the length and width of the base. (4mks)

111) the slant edge of the pyramid (4mks)
10
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21.Triangle ABC has vertices A(-5,-3§B(-8,-5) and C(-3,-1).
>

a) Plot triangle ABC and i,ge%mage A1BIC! under reflection in the line y=-x.
W

& (3mks)
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b) AUBICIH is the image of AIB-k@? under rotation centre (0,0) through a positive

quarter turn. Plot A11B1@11 and state its co-ordinates. (2mks)

N
<
AN

c) A3B3C3 with co s\mates A3(7.5,-4.5),B3(4.5,-7.5) and C3(4.5,-1.5) is the image

of AUBUCl}\vunder a certain transformation. Plot A3B3C3 and describe this

)
transfornyation. (2mks)
=)
N
<
d) Agﬁ?-lﬁ) 1s the image of A3 under translation. State the co-ordinates of B4
&
Q/Q and C4. (2mks)
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22.Maru Secondary School consume%&) bags of maize and 25 bags of beans per term.
Kadu Secondary School consugzgs 35 bags of maize and 18 bags of beans per term.
The schools purchase the g?alns from the same grain store. Maru pays sh.380,000
while Kadu pays sh. 3&&%00 for the grains.

a) Write down two.equations representing the cost of grains in the two schools.

X
o
(4
Ié)?@[%mg matrix method , calculate the cost of each bag of maize and beans.
NA

e@

c¢) The following term the price of each bag of maize increased by 20% while that of
beans decreased by 15%.
1) How much did Maru pay for the grains?

11) If the school enrolment increased by 10% and the food ration also increased

proportionally, how much would the school spend on the grains? (10mks)

13
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23.A ship leaves port M and sails on g}%earmg of 0509 heading towards Island L. Two

navy destroyers sail from a nox@ base N to intercept the ship. Destroyer A sails such
o

that it covers the shortest giistance possible. Destroyer B sails on a bearing of 200 to
L. If the bearing of N f; s}n M 1s 1000 and distance NM=300Km, Using a scale of 1cm

to represent 50Kms determine

1) the positions of M,N and L.

1) the distance travelled by destroyer A.

111) the distance travelled by destroyer B.

iv) the bearing of N from L. (10mks)

14
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24.The table below shovgsyéllues for the function

y =5+8x —2x%\v\for —2<x<6
A\
,\G)

X 2 Pl 0 1 2 3 4 6

o

~
8x+5 ?;%9. 29
2x2 ¢} -2 72

)
y & 11
e
<<K
2
<
< W a) Complete the table above. (2mks)
QO

b) Draw the graph of y=5+8x-2x2 for —2 <X <6. (3mks)

PASTE A GRAPH

15
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¢) Use your graph to sog@}he equation.

1) 5+8x-2x2=0 X

)
A\
QQ}%
X Q{a.
'b'%
S
ﬁﬁ? -2x2+5x+3=0
<
&°
<
N
¥
&

d) State the equation of the line of symmetry of the curve y=5+8x-2x2

© KENDJET 2012

16

(1mk)

(3mks)

121/1



